@ tiuGFfs

,gghlj i J¥ fwgjD}IhF ehqgfs.....

,Ugbr rhihGFsid tiuGFis mweJdnfhsNthk.
y=ax’*+ bvDk ,Ugbr rhhgd tiuGfsid g=Gfis
mwNthk.
tiunghdwy rkrrh mrir mweJdnfhsNthk.
tiugd cahTg ngWkhdk> ,oTg ngWkhdk
Mfiatwiwf TFh=Nghk.

.U fzjaqgfsSftfiilaYss f(x%;
njhlhGFisj njsiehft mwed nfthstjw 50
Fk njhlhGgLjJtjwFk tiuGfFisg
gadgLjjia KiwFfisAk gyNtWw
tifahd tiufisg gwwAk eqgfs i
, JWF Kddh mwedsshfs.

40

20

eqfs 9 MK jujjiy Faw NehNFhiL i
rhihGfs gwAk> mtwid truGfs gwwAk> i
,Ugbr rhihnGFsid tiuGFs gwwAk fwgJ R L
mtrnakhfidwd. rhhGFsd tiuGfFis tiutjwFj Njitahd x,y vDk
khwfSTfilaYss njhIhGFisAk Ms$wWj jsjjid kI GCssifFisT
FwfFk KiwFisAk cssliffia gawniar nraNthk.

%W@g

1) Ms$SwWWj jsnkhdwy fNo jugglLss thirggll Nrhbfshy fhllgglLk
GCssifist FwgNghk.

(-2,4),(-1,3),(0,2),(1,1),(2,0),(3,1)

2 X =-3 X=-2, x=0 x=1 Mad

()] y=x+ 3 vDk rkdghlby gujiavlL y ,wfhd ngWkhdgfis
vOJft.

(in) NkNy jJugglLss x ,d ngWkhdgfis y=2x-1,y gujialL
y ,wF fiIfFk ngWkhdgfis vOJfF.
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y =x?> vDk rhhgd tiuig tiujy.

rrhhgd tiumg tuuggwF X ,d ngWkhdgfies rkdghlby gujialL
nraJ y » ’\gI:]thdqflsf fthghk mtwiw FNo JugglLssthWw
mlilti=z gLJJ
X -3 -2 -1 0 1 2 3 4
y 16 - 4 - 0 1 - 9 -
mlltizaYss ntwwlqgfis eugGt.
,ttlltizra mgghdifFkNghd vy ,d ngWwkhdgfs grnajjiyUed
Neh ngwWkhdqfs khjjuk ngWeNjhL kiw vzfs ,yiynadgJdk
njsrthhdwd.

1
SN

,jdgb Ms$wWj jsjjiy X mrR fNo FwFfggLENjhL y mrir X
mrry css 0 GssiaD}Ihfy ,d ngWkhdgfs NehgngWkhdqgfshf , UFFkhW
tiuAqgfs. ,Ugbr rihGFsyy X mrR toNa Xh my 1 fF FwggjwF xU FI1Kk
y mrR toNa ,U myiff FwggjwF xU FflIIKk mstilahff nfh=zL
tiuig tiutd ,yFthFk mlltizaYss Gssifis Ms$wWj jsjjiy
FwAgfs.

y = x* vDk rhhgd Gssifs midjJk xNu NehNFhlby mikahd.
ngdniyg gadglLjj; Rahjdkhf iffsidhy Gssifis ,i1=zjJd tiuig
tiuvAgfs. gy tiuGfis ,tthW Rahjdkhf tiutjd %yk gutisaia
tiuvAk jwidg ngwWfnfhsthfs.

jahhFfggll miltizad gb y=x* vDk tiuG fNo fhllgglLssJ.
-tthwhd tbtk autisa (Parabola) vdaalLk.

i
14

12

10

[\ ]
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nrawghL - | |

tiugd kJ JRF Fljhnaa §tjJJ tmumgg guj; nraAgfs. jJRF
fljhnoa kbggjd %yk gutisaad rkrrhfNFhlalf fhZgfs. JRFT
fljhnia kzLk thjd tiugdkd §tjI rkrrhfNFhL viNFhlibd kJ
fh=zggLfidwd vdgijf f=zlwAqgfs.

rkrrh¥® NfhL

,Et1uG rkrruhf miktd ymrriy MFk. ,jdgb rkrrh mrrhdJd
(Axis - of symmetry) y mrR MtJld mjd rkdghL x=0 MFKk.
NehNThIL tiugy gbjjwidg ngw Kiwayy gutisaad gbjjwidg ngw
Kbahd. Vnddyy gutisajad Nky xtnthU GssifsiYk gbjjwd
Yjjiahrkhd ngWkhdqfiasft nfh=zbUfFFk.

,0Tg ngWkhdk

mllti=zi1aAk tiuigAk mejhdijjhy X ,d ngWwkhdk -4 ,UeJd
+4 tiu Kiwahf mjfhjIr nryYkNghd v ,d ngWkhdk 16 ,yUed 0
tiu Fiwed k=zLk 16 tiu mjfhjIr nryfidwd. , jdgb y=x* vDk
rhhgd kiff Fiwej ngWkhdk myyJd ,oTgngWkhdk 0 MFk.

X ,d ngWwkhdk -4 ,yUed +4 tiu gyNtW ngWkhdqfis
VLFFKkNghJ y ngWkhdqfs nryYkghi j Xx=0 Gssjazy khwwkiled k=zLk
JiUkgr nrytij eqfs mejhdiff KbAk. ,g6ss) jiUkgw Gss) vd
m s offggLk.

JUkgw Gssiadd Ms$WFisg ghlnjJdg ghugfs. mit (0,0) vd
m § KAK.
.. JiWUkgw Gssjasdd Ms$WFs (0, 0) MFk.

y = x* vDk rhhgd tiuG %yk eqfs ngw Kffa tlagfis
kzLk endTgLjJdqgfs.

rhhggd rkrrh mrrnd rkdghL x=0myyJ y mrR MFk. rhhgd ,0Tg
ngWkhdk 0 MFk. jiUkgw Gssiald Ms$W (0, 0) MFk.
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nrawghL - 2|

@)

@)

)

y=x rhhgd tiuG %yk thff %yjijF FhzNghk.

y =16 vDk NehNfhlil tiuAgqfs. mJ gutisaia ntlLk
GssifsiYss X ,d ngWkhdgfis vOJqgfs.

y=9vDk NehNfhl il tiuAqgfs. 16
gutisaia ntlLk Gssifsd x ,d 14
ngWkhdgqfis vOJqfs. 12

10
J16 .d ngWkhdgfis vOJqgfs. 8
mJ X ,d ngWkhdqfSTF rkdhdjh? 6

4
J9 ,d ngWkhdgfis vOJqgfs. 2
HilfFk il X ,d ngWkhdgfSTF YR O R R i 1o e
rkdhdjh?

X mrRTfF rkhejukhf Vjhtd xU GssjaD}L tiuaggLk NehNfhLfs»
gutisaia ntlLk Gssifsid X ngWkhdgfs mej Gss) FwfFk
vzzd thffoyk MFk.

y =3 vDk NehNfhlal tiuvAqfs. tiuGfsy rejifFk Gssifsid x

ngWkhdgfisf fhzgfs. +1.7, - 1.7 MFk. (4/3=1.73

filba Kjyhk jrkjhdjjwFé

,jdgb ,ttiugd %yk .6, /5, V10 Mfiatwwd ngWkhdgfisfF
thZqgfs.

gawn23'2 A %

@)

(i)
@)

NEtENEW Ms$wWj jsqgfslyy —-3<x <3 vDk trRfsyy fNo
JugglLss rhhnGfsid tiuGFis tiuf

1 1
y=x (i) y=2¢ (i) y=a4¢ (@) y=3%" () y=,¥
NkNy jJugglLss xtnthU tirugdJk
() rkrrh mrnd rkdghlil vOJfT.

@) ,oTg ngWkhdjij vOJIT.
(i) JUkgw Gssjaad Ms$Wfis vOJIT.
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(3) NkNy css tiuGfs %yKk tidh (2) ,wF eqfs vOjja tilfs
%yKk eqfs f=zl rkjdikfs vdd?
1 1
4)  jRFFIjhnia vLjJI y=2x°, y=4x?, y= EXZ’ y=7 x* ,d
tiuGFisg guj) nraAgfs. y=x? vDk rhhigfF FwFfFk tiuG kJ
JiUkgw GssiFSk> rkrrh mrRk nghUeJdkhW §€jJ y=2x% y=4x?

1 1
y= EXZ’ y =7 x* vDk tiuGfsid gukgyfis mtjhdAgfs.

5) x* ,d Fzfk xdiwgl Kiwahf mjfhfFkNghd 1 ©lf FiwthfTk
0 1 tlg nghghfTk ,UFFkNghJdk tiuGfs thed nryYk Kiwayid
mtjhdijJ mtwiw vOIqfs. "gqutisay x?,d Fzfk khWkNghJ
tiugy VwgLk khwwk njhlhghf.é&

1
6) y=3x2" y= 3 x? vDk tiuGFis xNu Ms$SwWjjsjjiy tiuAgfs.

1
y = x4, y= > x2vDk tiuGFis xNu Ms$SwWjjsjjiy tiuAgfs.

eqfs (5) ,y rkrrh ngnw Kbtyid cWjgLjjif nfhsSqgfs.
nrawghL-3|

y=-x* vDk tiuig tiutjwF _g4<x<4 vDk trRfFs
mikffggll mlltizad ntwylgfis eugGgfs.

X -4 -3 -2 -1 0 1 2 3 4
y=-x*[ -16 | | ... -1 0 - -16

tiugy X ,d ngWkhdgfs -4 ,yUed +4 tiu mjfhfFkNghd vy
,d ngWkhdj i jg ghlrnjJg ghuqgfs.

y ,d ngWkhdqfs -16 ,yUed Kiwahf 0 tiu mjfhjJ k=Lk
-16 tiu FiwAk gjjij mlltiz %yk mtjhdAgfs.

Ms$wWjjsnkhdwy y - mrir tiuved X mrir NkNy tiuved
Ms$WFisTt FwAqgfs.

Kddh NghdW Rahjdkhf i fahy tiuig tiuAqfs. X ,d ngWkhdk
Kiwahf mjfhwfFFkNghd v ,d ngWwkhdk Kiwahf -16 ,yiUed 0 tiu
mjifijJ k=Lk -16 tiu FiwAk

vdNt ,ttiugy ,oTgngWwkhdkdw cahTg ngWkhdNk cssJ.
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, TtHuG X=0 MFffnfh=zL y mrny
rkrruhf mikfidwd. jJjUkgw Gssjad i SR IR 1 I (U S e B . B
Ms$Wfs (0, 0) MFk.

y=x? vdw tiuig jRF Ffljhnay
guj) nrad fo Nehffij jiUgg y=-x* kJ

1 tAQTs. 10
tiuGfs xdwid xd W i
nghUe JFidwjh? -

js Mbia y=x* vDk tiugy X
mrnd kJ 1tjJ js Mbia mtjhdAgfs.
guji tkgk y=-x2 MFkh? y=x% ,d guj)
tkgk y=-x* MFk

nrawghL - 4|

1
[ ] y=-2X%, y=-4x% y= _EXZ vDk tiuGFis tiuAgfs.

1
| mtwwid gujrtkgk y=2¢, y=4x%, y= Exz MFkh vdgi j xggLgfs.
[ cqfs Kbit trdjjyy vOJgfs.

| y=2x?vDk rhhgy x> ,d F=zfk Neug ngWkhdj i j¥ nfh=zbUggjhy
rhuG cauTg ngwWkhdj i j¥ nfh=bUFfFkh? myyJ ,oTg ngWkhdj
i jf nfh=zbUFfFkh?

y = ax? vDk ,UgbrrhhG xdwd ,Ugbad F=zfk 1 1 tlf $LkNghJ
€tiuG ymriar Nehffy ,U gfFfKk xLgH nryfwd. Fzfk xdiwglf
Fiwed Grrnajij tlf$ba ngWkhdkhdjij vLFFkNghd tiuG
y mrryyjUed tiyfi ,U gffKk tihed nryfdwd.

gz _#%

@D y=-x* ,y=x*Mfia tiuGfis -4<x<+4vDk Mailfsy tiuf

(2) t€tiuig tiuvahd
(). y=2x*vDk rhhgd ,oTg ngWkhdjij vOIFf
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(i) y=2x*vDk rhhgd rkrrh mrrd rkdghlal vOJf.
(iii) y=2x?> vDk rhhgd jiUkgw Gssjadd Ms$WFis vOIT.

3) tiuGfis tivahd

-1
y=2x2 "y= 7x2 tiuGFsid cahTg ngwkhdj i jJAK

,0Tg ngWkhdj i jJAk vOJT.

y = 2x* vDk rhhgd tikgkhd tiugd rkdghlil vOJfF.
mjd JjiUkgw Gssiaad Ms$Wfis vOJIT.

-1
y= EXZ vDk rhhgd guj; tkgkhf mikAk tirugd rkdghlal

vOJT. mjd rkrrurrnd rkdghlsl vOJT.
(4) tiEumg truahd
y = 3x> vDk rhhgyy tiugd

() cahT § ,oTg ngWwkhdgfis vOJIFf

@ ,jid tiugd rkdghlbYss vgg=zGfisft nfh=L jhkhdiggh?
@) tiugd rkrrh Nfhlbd rkdghlil vOJf.

(v) rhhgd jiUkgw Gssjaad Ms$WFis vOIT

y=ax*+bvdw tiuG

y=x2+2 vDk rhhgd tiuG tiutjwF _4<x<4 1 VLFF
ntwylgfis eugGT.

X -4 -3 -2 -1 0 1 2 3 4
X? 16 1 0 9
y=x*+2| 18 3 2 11
TtiuG %yk

() rkrrh mrnd rkdghLfis vOJf.
@) ,oTg ngWkhdk ahJd?
(i) JUkgw Gssiad Ms$WFis vOIf
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y=x? ,d rkrrh Nfhlbd rkdghLk

y=x*+2 ,d rkrrh Nfhlbd rkdghLk rkdhdjh?

y=x*+2 ,d ,oTg ngWkhdjij mllti =z %yk fhzKbAkh?
y=x2+2 ,0Tg ngWkhdjij tiugd %yk fhll KbAkh?

JiUkgw Gssiad Ms$WFis vOJIkNghd rkrrh mrnd
rkdghl s 1Ak ,0Tg ngWkhdj i1 JAk gadgLjj KbAkh? NkNy css tiugd
,0Tg ngWkhdk 2 vdgmj mwthfs.
mtthNw rkrrh Nfhlbd rkdghL x =0 MFk.
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JlUkgw Gssjasd Ms$W (0, 2) MFk.

mjdgb y=x*+2 vDk tiugy ,oTg ngWwkhdk fii IffiidwJ.
(,Ugb cWggd F=zTfk Neh vdgjhy)

,0Tg ngWkhdk 2 MFk. x?+ ,jd %yk ,oTg ngWkhdk
fhllggLk. jiUkgwGssiasd Ms$SW (0, 2)

rkrrurrd ,0Tg
ngWkhdk  ngwWkhdk

y=x*-5 vDk rhhgd tiuig tiuvahd flo css KbTfis
vOJNthk.

khwhg ngwWkhdk -5 vdgjhy ,oTg ngWkhdk -5 MFk.
rkrrurnd rkdghL x =0 MFk.

JlUkgw Gssy (0, -5) MFk.

cjhu=zki

y=-x*+3vDk tiugd

cahTg ngWkhdk +3 MFk.

rkrrh mrnd rkdghL x=0 vdgjhy> jiUkgw Gssjasd Ms$W (0,3)
MFk.

. y=ax? vDk tiugy’
* ymrR myyJd X=0rkrrh mrrhFk.
JiUkgw Gss) (0,0) CIhf €tiuG nryYk.
* tiugd tbtk gutisa MFk
* a<0 MFkNghd cahTg ngWkhdk MFk.
* a>0 MFkNghd ,oTg ngWkhdk MFk.
* y=ax? rhhgd x mrrnyhd tkgk y=-ax? rhhghFk.

*

II. y=ax*+bvdDk tiugy
*y=ax*+b rhhgd (0,b) JiUkgw GssijahFk.
*a>0 Mad ,oTg ngWkdk b MFk.
* a<0 Mad cahTg ngWkhdk b MFk.

lNLy=ax> tiugy y mrnd esjjiy bJjuk tiuG khwwki 1Ak
Nghd y=ax*+bvDk tiuG fii IfFk
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01. -3< X<+ 3 trRfFs;

(m) (Hy=x*-5 (ii).y=-x>+3 (iii). y=x*+2 (iv). y=2x*+3
vDk tiuGfis tiuuf

(M) () NkNy css tiuGfsid cahTg ngWkhdqfs / ,oiTg
ngWkhdqfs vdgdtwiw vOJT.
(M) NkNy css tiuGfsd jiUkgw Gssifis vOJT.

02. fNo jugglLss rhhGFs njhlhghf mlltizayYss ntwwlgfis
eugcgfs.

rhhG rkrrh mrnd rhhG rhhgd cahTg JiUkgw
rkdghL canthdjh / | ngWkhdk / ,0oiTg Gssiad
,othdjh ngWkhdk Ms$W

03. gutisa rhhgd ,oTg ngWkhdk -3" rkrrh mrnd rkdghL x=0 Mad
,ttiugd y=x?rhhghf tiugd rkdghlil vOJqgfs. jiukgw Gssjad
Ms$iw vOJIT.

04. y=x* vDk rhhgd y mrR toNa Nehjjiirayy 5 myP fled jiUkgr
nryYk rhhgd rkdghlal vOJf. jjUkgw Gssjad Ms$iw vOIT
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05. y=x*+5vDk rhhgd tiuig tiutjwF —3<x<3 vDk trRfFs
mllti=ziaj jahhft.

xmrR toNa 10 rwa rJugfis 1 myfhfTk y mrR toNa 10 rnwa
rJugfis 2 myfhfTk nfh=zL tiuig tiauf

0]
(i
(i)

06. (i)

(i

07. ()
(i)
(iii)
(V)

., ytr teNahfjjwfhf

tiugd ,oTg ngWkhdk
JilUkgw Gssiasd Ms$W
rkrrh mrrd rkdghL vdgdtwiw vOJT

y=-x*+2 vDk rhhgd tiuig tiutjwFgnghUjjkhd mlltiziaj
JahhAgfs. ,rrhhgd cahTg ngWkhdk / ,oTg ngWkhdk> JiUkgw
Gssiaad Ms$W> rkrrh mrrnd rkdghL vdgdtwiw tiuG tiutjwkF
Kddh vOJf

tiugd Ms$SWFis Ms$wijsjjy FwjJd tiuig
tiuAgfs. eqfs Kddh ngw tilfs ,jDId nghUedfidwjh
vdg ghuff.

fNo jugglLss tiugd jiUkgw Gssjad Ms$iw vOJdqgfs.
rkrrh mrnd rkdghlal vOJfT.

cahTg ngWkhdjij vOJT.

tiugd rkdghlsl vOJT.




08. y=x°-3vDk rhhgd tiuig tiuvtjwFg nghUjjkhd ngWwkhdgfisf
nfhzl mlilti=zi1aj jahhAqgfs. tiuig tiugjwF Kddh trugd>

()] ,0Tg ngWkhdk

@ JiUkgw Gssiald Ms$W

@) rkrrh mrnd rkdghL vdgtwiw vOJFf

tiumg tiued eqfs vOja i ii, iii Mflatwwd tEalfis xggLf

tiuG xmrir ntlLk Gssifsyy ntlLkhWk cahTg ngWkhdk +4
MFfTKss tirugd rkdghlsl vOJT.

09. y=x*+2vDk tiuG ymrrd toNa Nehj jiirayy 5 myFfs ,lg
ngahram lejhy mttiugd rkdghlsl vOJT.

mjd ,oTg ngWkhdj i JAk rkrrh mrrd rkdghlslAk vOJT.

Mukgj iy jJuggll rkdghlbd tiuG ymrnd toNa kiwj jiiray
4 myFfs , 1g ngahrriai lejhy ngwggLk tiugd rkdghlal vOJT.

rhuhkrk

* ,U fzjaqfSthilayyss njhlhGFis njsithfTk gioadwAk
fhiLgjwF tiuGFisg gadglLjj KbAk.

* kfTk vsa gutisa y=x* MFk. ,jd x mrrnyhd guj) thkgk
=-x* MFk.

* gutisa xdwd gazgghij khWfidw GssifF jUkgw Gss)
vdf $SWNthk.

*x gutisawF rkrrh mrR c=zL.
* gutisaad rkdghlbd x* ,d F=zfk Neuhf ,UFfFk NghJ rhhG

,O0Tg ngWwkhdjijAk x* ,d Fz=zfk kiwahf ,UFFkNghJ
rhihG cahTg ngWkhdj i JAk nfh=bUFFk.
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